

$\log_n^m = a$ $\log_{mn}^{m^2n} = b$ $a \neq 0$ $[b] = ?$

$$\frac{\log_n^{m^2n}}{\log_n^{mn}} = \frac{\log_n^{m^2} + \log_n^n}{\log_n^m + \log_n^n} = \frac{2a+1}{a+1} \rightarrow \left(1 + \frac{a}{a+1}\right) = 1$$

$y = \sqrt{\frac{n}{\log \frac{n}{1}}}$ $n > 0$

چون n در مخرج قرار دارد پس باید $n > 0$ باشد
سپس باید به فرم $\frac{1}{x}$ در مخرج قرار دهیم
و به کمک فرمول $\frac{1}{\frac{1}{x}} = x$ به جواب می‌رسیم

$P_f = (-1, 1)$

ب) $y = \frac{\log_{\frac{n^2-n-2}{2}}}{\sqrt{n^2-1} + 1}$

① $n^2-1 > 0$ $n > 1 \rightarrow n > 1$ $n < -1$

$n^2-n-2 > 0$ $(n-2)(n+1) > 0$

② $\frac{-1}{+1} - \frac{2}{+1}$

$①, ② \rightarrow (-\infty, -1) \cup (2, +\infty)$

$2 \log_n^a + \log_a^{\sqrt{n}} = 2$

$n=9$
 $a=?$

$\rightarrow 2 \log_9^a + \frac{1}{2} \log_a^9 = 2 \rightarrow 2t + \frac{1}{2} \times \frac{1}{t} = 2 \xrightarrow{\times t}$

$2t^2 - 2t + \frac{1}{2} = 0 \xrightarrow{\times 2}$

$4t^2 - 4t + 1 = 0 \rightarrow (2t-1)^2 = 0$
 $\log_9^a = \frac{1}{2} \quad \boxed{a = \sqrt{9} = 3}$

$\left(\log_{\frac{a}{r}}\right)^m + \left(\log_r^a\right)^n - \log_a^b = 0$

$\log^r = -12$ $\log^r = -15$

$\rightarrow \log^a + \log^r$
 $12m^2 + 15n - 11 = 0$ $12 + 15$

$\log^1 - \log^r = \log^a$
 $1 - (-12) = 13$

$\log_{\frac{a}{r}} = \log^a - \log^r = 13 - (-12) = 25$

$12m^2 + 15n - 11 = 0 \rightarrow m^2 + 1.25n - 0.91\bar{6} = 0$

$(n+1)(n-2) = 0$

$\frac{1}{\log^r} = \log^a = 2$ $\frac{1}{12} = \frac{1}{12}$ $\frac{1}{12} = \frac{1}{12}$

$\left| -\frac{11}{12} - \frac{15}{12} \right| = \left| \frac{26}{12} \right|$

$\log_{12}^{10} = ?$ $\log_{12}^r = 12$ $\log_r^u = 12$

$\frac{\log_r^1}{\log_r^{12}} = \frac{\log_r^1 + \log_r^1}{\log_r^1 + \log_r^1} = \frac{1}{12} = \frac{1}{12} = \frac{12}{12}$

$$\log_4^4 = ?$$

$$\log_r^r = 1.4$$

$$\log_r^a = 1.4$$

$$\frac{\log_r^a}{1.4} = \frac{r}{r}$$

$$\log_r^a = r.2$$

-4

$$\frac{\log_r^4}{\log_r^a} = \frac{\log_r^r + \log_r^r}{\log_r^r + \log_r^a} = \frac{1+1.4}{1.4+2.2} = \frac{2.4}{3.6} = \frac{24}{36} = \frac{2}{3} = \frac{r}{r.2}$$

$$\log_n^m = m$$

$$\log_\Sigma^r = ? = \log_\Sigma^r + \log_\Sigma^r = 1 + \log_\Sigma^r = 1 + m - \frac{1}{\Sigma} = \frac{r}{\Sigma} + m$$

-V

$$\frac{\log_\Sigma^m}{\log_\Sigma^r} = \frac{\log_\Sigma^m}{r} = m \rightarrow r_m = \log_\Sigma^r + \frac{\log_\Sigma^r}{\frac{1}{r}} \rightarrow \frac{r_m - 1}{r} = \log_\Sigma^r = m - \frac{1}{\Sigma}$$

$$(1/r)^{m-1} = \left(\frac{r}{\lambda}\right)^{m-1}$$

$$\log_n^{n+1} \rightarrow \log_n^r = \log_{r^r}^r = \frac{r}{r}$$

-1

$$\left(\frac{r}{a}\right)^{m-1} = \left(\frac{a}{r}\right)^{m-1} \rightarrow -r_{m-1} = r_m^r \rightarrow r_m^r + r_{m-1} = \dots \quad \frac{r}{r} + r_{m-1} = \frac{(m+r)(n-1)}{r} = \dots$$

$$\frac{r}{r} - 1 = \frac{r}{r} \quad \frac{r}{r} \checkmark$$

-4

$$\log_r^r = a$$

$$\log_b^r = \frac{r}{r} (1+a)$$

$$\log^{r-b-a} = ? = \log^{r+r-a-a} = 1 \quad \textcircled{r}$$

$$\frac{1}{r} \log_r^b = \frac{r}{r} (1+a)$$

$$\log_r^b = \frac{r}{r} + \frac{r}{r} (\log_r^r) = \log_r^{r+1}$$

-10

$$-r a n^r + b n + \frac{1}{r} c = 0$$

$$\log^r = \frac{1}{n_1 + n_2} \quad \frac{b+c}{r} = a$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{c}{a}}$$

$$\frac{-b}{-ra} \rightarrow \frac{ra}{b} = \log^r \rightarrow \frac{ra}{b} = \log_r^r \rightarrow b = \frac{ra}{\log_r^r}$$

$$c = ra - b \xrightarrow{+a} \frac{c}{a} = r - \frac{b}{a} = r - \left(\frac{r}{\log_r^r}\right) = r - r \log_r^1$$

$$r^{-\frac{1}{r}} (r \log_r^1) = r^{-\frac{1}{r}} (1 - \log_r^1) = r^{-\frac{1}{r}} (1 - \log_r^r) = r \log_r^{\frac{1}{r}} \rightarrow a \frac{1}{r} = \sqrt[r]{a}$$